VOICE

With English transitive and Slovak objective V, the clause usually contains 

a/ three grammatical elements - the subject, the verb (predicator) and the object and, 

b/ three semantic units - the agent, the action (or process) and the goal.


Peter invited Jane.
Peter pozval Janu.

In this sentence Peter is the subject (and the agent, i.e. the doer, performer of the activity) and Jane is the object (and goal). The English word order tells us that Peter is the subject and Jane the object. Both are NPs and their form is the same. If their order is changed, both their grammatical and semantic roles will change. 

But in Slovak the roles of the two NPs are not determined by their position.


Janu pozval Peter.

Even if the word order is reversed, the roles remain clear. This is because the roles of the NPs are not determined by their position but by their form, the nominative and the accusative case respectively.

Since in English, it is rarely possible to indicate the roles of NPs by case, word order plays the primary part. Nevertheless, changes in word order may be required by the context in which a clause is used, by the needs for emphasis, contrast, etc. The speaker may want to begin his sentence with an element other than the doer. Since the pre-verb position is reserved for the subject, it is necessary to indicate whether the subject is the doer or not. This is indicated in the voice form of the V.

If the V is in the unmarked, a c t i v e  voice form, we automatically assume that the subject is also the agent (supposing the process indicated in the verb normally involves an agent and the subject can be interpreted as the agent). If the V is in the p a s s i v e  voice form, this indicates that the subject should not be interpreted as the agent. It may be the goal, or a person or thing involved in the event in some other way. Thus voice is the property of two units at the same time: the property of the verb phrase on the one hand and that of the clause on the other. 

For certain reasons it may be necessary to leave the agent unexpressed. In Slovak it is often sufficient to ommit the subject and the clause is grammatically correct (some word order adjustments may be necessary, e.g. Peter to napísal. Napísal to.) 

In English, the passive voice is a suitable form for omitting the agent - the role of the subject is taken over by another semantic element.

We can summarize that there are two chief differences between an active and a passive clause in English:

1. The order of the NPs is changed. (Peter invited Jane. Jane was invited by Peter.)

2. The NP denoting the agent need not be expressed in the passive clause. (Jane was invited.)

In Slovak, where changes in word order and the omission of the agent can be achieved without using the passive voice, passive forms are less frequent than in English.

The forms of the passive voice in English consist of the appropriate form of the auxiliary to be and the -ed participle of the main V. 

present simple


John 

  is helped 
by Mary.

present progressive

John

 is being helped
by Mary.

present perfect

John

 has been helped
by Mary.

simple past


John 
  
 was helped 
by Mary.

past progressive

John      was being helped
by Mary.

past perfect


John

 had been helped
by Mary.

simple future


John

  will be helped
by Mary.

future perfect


John will have been helped
by Mary.

The progressive forms of the present perfect, past perfect, future and future perfect are very rarely used in the passive.

The passive voice is also used with non-finite verb forms.

present infinitive




to be helped

perfect infinitive


   to have been helped

-ing form (present participle/gerund)
being helped

perfect -ing form


    having been helped
-ed participle






helped

The verb get can be used instead of be to form the passive in spoken language.

1. In Slovak there is also a passive construction formed with the verb byť followed by the past participle of the main V. 

2. Another construction - the so called sa - passive, often called reflexive passive has a higher frequency.


These goods are exported to a great number of countries.


Tento tovar je vyvážaný do mnohých krajín.


Tento tovar sa vyváža do mnohých krajín.

The reflexive form is used in the third person and with non human subjects. (Clauses like Deti sa posielajú do táborov are exceptional because human subjects are normally interpreted as agents.)

Sometimes the passive construction can be ambiguous expressing either state or process.


The shops are supplied with consumer goods.


Obchody sú zásobené spotrebným tovarom. (state)(dokonavé)

Obchody sú zásobované spotrebným tovarom. (process)(nedokon)

Such ambiguities are solved by the context.

In Slovak such ambiguities are rare because process is usually expressed with the passive participle of an imperfective verb and state with that of a perfective verb.

Out of the two constructions in Slovak, the one expressing process is not very common. Instead, a construction with the reflexive passive or an active construction is usually preferable.

There is a difference between English and Slovak in the use of the agent in the passive construction (in E the agent - an NP preceded by the preposition by  and in S - an NP in the instrumental case). While constructions with a by element are common in English, their Slovak counterparts are very rare (human agents are exceptional). In clauses with the reflexive passive there is not even a theoretical possibility of expressing the agent.


The machine was constructed by our experts.


Stroj skonštruovali naši odborníci.


Stroj bol skonštruovaný našimi odborníkmi. (rare)

 
*Stroj sa skonštruoval našimi odborníkmi. (impossible)

In both languages we can find an active construction corresponding to a passive one. The choice between one or the other, however, is not arbitrary, it depends on several factors, especially the context. For example, in a context where the agent is unknown, obvious or unimportant, the passive clause can be the only possibility.


Then the packets are packed into boxes.


Potom sa balíčky balia do krabíc.

It is understood that the agent can be anyone here. The clause would be awkward if the agent (by someone) were expressed, because there is emphasis on the actions performed rather than on the people who perform them.

There are sentences in the passive voice in English with no analogical passive constructions in Slovak.

The old house is haunted. (no agent)


V tom starom dome straší.

Due to its final position, the by element in a clause carries the most important information. In the terminology of the theory of functional sentence perspective it would be a dynamic element which could be interpreted as the rheme. (Firbas, 1956)


The picture was painted by Picaso.

You can mention something that the agent used to perform the action after the preposition with.

The picture was painted with a special paintbrush.

A few transitive verbs refer to states rather than actions. When some of these verbs are used in the passive, the agent is put after the preposition with. Other verbs referring to states are:

crowd, ornament, throng, fill, decorate, cram.

The room was filled with antique furniture.


The windows were decorated with flowers.

However, there are transitive V referring to states when the agent is put after the preposition by. They are: conceal, exceed, illuminate, inhabit, occupy, overshadow.


The south is inhabited by Mexicans.

Some transitive V can be used with either by or with in the passive: adorn, besiege, cover, overrun, surround.


Her knee was covered with blood.


The walls were covered by curtains.

In the case of ditransitive V such as give, teach, offer, tell, show which can have an indirect object as well as a direct object in an active clause, either object can be the subject of a passive clause. 


He gave me his book.


I was given his book.
His book was given to me.

Here we can see two possible passive constructions in English.

a/ Most V can be used alternatively with the preposition to in front of the indirect object: award sb. st, bring sb. st. (used also with for), deny sb. st., do sb. good, harm, find sb. st. (alternatively with for), forbid sb. st., forgive sb. st., give sb. st., grant sb. st., hand sb. st., leave sb. money, lend sb. st., offer sb. st., owe sb. money., pay sb. money, promise sb. st., quote sb. a price, recommend sb. st., refuse sb. st., send sb. st., set sb. a task, teach sb. st., tell sb. st, write sb. st.

b/ the second group consists of V which require a preposition for in front of indirect object in the passive: build sb. st., buy sb. st., cook sb. st., cut sb. st., do sb. a favour, draw sb. st., order sb. st., paint sb. st., pass sb. st., read sb. st., take sb. st.,  
However, the verbs that are followed by direct object and a prepositional object have only one of these passive forms. These V are: demonstrate, explain, intoduce, mention, report, suggest.


He described the situation to me.



The situation was described to me.

There are also ditransitive verbs where one object(either direct or indirect) cannot become subject in passives: 

a/ The passive can be formed from an indirect object but not from a direct object: allow sb. privileges, ask sb. a question, make sb. an offer, strike sb. a blow, save sb. st.


Freeing Tim now would save the authorities a lot of trouble.


The authorities would be saved a lot of trouble by freeing 

Tim now.

Impossible: A lot of trouble would be saved ..... ????

b/ The passive can be formed from a direct object but not from an indirect object: earn sb. money, a reputation (for), keep sb. a seat (for), leave sb. a key, message (for), make sb. st. (for), win sb. support (for).


His fearless stand has won (for) him a lot of sympathy.


A lot of sympathy has been won for him by his fearless

stand.

Impossible: He has been won ..... ?????

When translating from English into Slovak, we use fewer passive clauses. Frequent counterparts of English passive clauses are clauses without the subject in the 3rd person sg. if a non-human agent is thought of, or the 3rd person pl. if the possible agent is human.


He was killed.


Zabilo ho. (non-human agent)


Zabili ho. (human agent)

English passive can be translated by Slovak non-finite verb form.


It cannot be heard.

To nepočuť. (infinitive)


Something must be done.  Niečo třeba urobiť.

A few transitive V are rarely used in the passive because the thing affected by the action is rarely the thing you are interested in. The following transitive V are rarely used in the passive: envy, escape, flee, get, have, let, like, race, resemble, suit, survive.

